
           Maths Term 2(PT-4) Question paper Pattern for Grade 3 

 

                                 SECTION A :  

           Q1   MCQ -                                               1M × 10Q = 10M 

 

                                 SECTION B : 

          Q2. Fill in the blanks -                                1M × 5Q = 5M 

 

 

          Q.3 True or False -                                    1M × 5Q = 5M 

                                    OR  

                Match the following -                        1M × 5Q = 5M 

 

                           SECTION C : 

          Q.4 Solve the following -                         2M × 5Q = 10M 

 

                          SECTION D  

         Q.5 Simplify -                                              3M × 6Q = 18M 

 

                       SECTION E :  

         Q.6 Word Problems and  (GRAPH)            4M × 3Q = 12M 

Total - 60 Marks  

  Regards 

Maths teacher 


